Class \ = 3V = M7 ,4-3
t X N
2.) i'_— Paws o Cwlu ad ‘)1_ = A .
\ " p 2 ~UPz-3Am ydue =)
7]

tove Velua ey = "3 A (22

~

QM‘)“tr,QA -\-'\.4 Q—uq e X = by widl \C\\ = i P\;\' —_ ’ﬁq

S Pow dWB  £o. yuch oo = A o (1\)1 Cvnsh b

Gmosi s o Qou A A R '(,\\-,-C Pn= "W

é 3 < bou S‘F-h dwn ~ RL e

¢ Bows = 6 Y¥YARzH® = 3B (23

I S S e = 2
3) Q- -F=0 \wsydt Vo
\% Pw = £V o e —P o e b
b — g-*.,_\“?
Ao L
Ebu'tv-.\iu.“ E" o —. —

. w™ AW 1o\
rR o ki . e v
g L8 = Tau
d = une S T~ 4t o V%
=% (%]
'S Ut"-*u\” S j2re T T \
o=, - g
W Rs sy
o = \)
e Rl =
2 T .2 = - T Q™
ik E e [T s R
= L, =

T o= P -\_VV
- M Yt ws
e Bald A gust Seua  of R, s - o W
e S G )
= Vo == Tz~
B T R |1z~ @
Pnad- =2 1 LTI e

e & N et 4y +o2w £ - T’{\-’{o 23 Y N SRR



